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Instructions to Candidates

 write your name or put any other mark of identification anywhere in the OMR Answer Sheet.
' MARK OF IDENTIFICATIONS IS DISCOVERED ANYWHERE IN OMR RESPONSE

ive marking in Multiple Choice Questions. For each wrong answer, (.25 marks will be

ON OF ELECTRONIC GADGETS LIKE MOBILE PHONE, iPhone. iPad. pager
OHIBITED.

check the serial order of questions at the beginning of the test. If any question is
e serial order, it should be immediately brought to the notice of the Invigilator. No

m out from this question booklet.

in the OMR Response sheet which is provided separately. OMR Response

* to the invigilator before you leave the seat.

 should not be folded or wrinkled. The folded or wrinkled OMR Response

the appropriate space (above) and on the OMR Response Sheet. Any
ould be written only in the space provided.

(question marked A, B, C and D. Select one of the most appropnate
oval/circle in the OMR Response Sheet provided to you. The

VMR Answer Sheet is mentioned below.
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ol " In these questions, out of the four alternatives choose the one which

ubstituted for the given word/sentence.
+ The quality of being poliely firm and demanding

- () Bossy
ndk “Aggressive (d) Lordly

(b) Money-grabber

(d) Miser
wman flesh.
v(’b')’" cannibal
(d) savage

(b) Iconoclastic

Pompous



s Q‘lﬁﬁ‘m 6-10: Read the passage carefully and answer the questions given below;

‘ f:ﬂmdhm recognised that, while all men should have equal opportunity, all did not haye
> same capacity. Some had the ability to earn more than others. But, he believed thay
e who had talent would be performing the work of society if they used their talent
ly and well. Gandhiji said that he would allow a man of intellect to earn more and

suppress his talent. But it was his view that the bulk of his larger earning should go

al equality (b)  Equality of opportunities

\Sd)/ Complete equality in all respects

(b)  Applicable to social life only

Irrelevant today
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9. The title of the passage should be
b i L‘) e
e .%dbm- Character (b)  Ghandhiji's Views
‘ - Ghandhiji's services . /(d)/ Gandhiji's Philosophy

| ding to Ghandhiji, one can serve the society
If one is talented
o L | ﬂyf If one used his talent wisely
i one
| carmned well (d) If one worked honestly

m 11-15:
| 15: In the following questions, a sentence has been given in

as taken every morning by me.
-. 3 every morning by me
on every morning by me.
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manager paid him the wages.

Heis paid the wages by the manager

~ He was paying the wages by the manager.
He is paying the wages by the manager.

e was paid the wages by the manager.

you given any prize by them”

a rize given to you by them?

R
T
s o

rize given to you by them?

4

tered by you.(b)~  Your boss is flattered by you.
| red by you. (d)  Your boss had flattered by you.

ing sentences one word has been italicised.

ive words are given for the italicised word.
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The fact threw an odious light on the incident.

ul smelling (b) hateful

(d) open

(b) jealous

(d) unfriendly

By (b)  occupation

(d) attitude

(b) well thought

(d) simple

) measures a state's natural resources. Which

sments in the annual update used to measure
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" 2. Which Indian Institute has been recently named after Manohar Parrikar?

(a) Institute for Defence Studies and Analyses (IDSA)
(b) Indian Institute of Advance Technology (IIAT)
(¢) Indian Institute of Planning and Management (IIPM)

(d) Institute for Agricultural Studies (IAS)

. Ashraf Ghani won a second term as the President of which country?

(b) Iran

‘ )(M/ Afghanistan

e refers to:
“The rate at which banks lend to its prime borrowers

e

imum rate that banks can pay for deposit

 which banks rediscount bills with RBI

rest charged on inter-bank transactions

08 P U-17 Women's Football World Cup 20207
@) mdia

(d) Afghanistan
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7. Which Ministry recently announced to set up the Central Consumer Protection
Authornity?
(@) Ministry of Finance

~ Ministry of Consumer Affairs, Food and Public Distribution

~ Ministry of Food Processing Industries

h
19" February

(b)

(d) 21" February

(b)  Justice Madan Lokur

ar Sarma (d) Justice Sanjiv Khanna

‘ | and published the newspaper Indian Mirror in
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Hunter COlﬂIlliSSlOl‘l for:

31, Lord Ripon appointed e E
sr anti-na c
' ism and other an
(a) Combating terroris

(b)  Educational reforms in India o
Appointment of [ndian Judges in higher judiciary

None of the above

ich country has recently successfully test-fired Ra'ad-11 Cruise Missile?
fia (b) Ukraine

Pakistan (d) Iran

(b)  Sania Mirza
@ Sachin Tendulkar

money and white money
re and industry
agriculture with subsistence farmin g

ommercial agriculture co-existence with

handicrafts

given below:
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35. The name of Barindra Ghosh is associated with which among the following

newspapers?

v.f-_‘...:(a) - Indian Opinion (b)  Jugantar
@) Ghadar (d) Maharatta

ch South Asian country has adopted Gross National Happiness as an index
e will-being of its citizen?

| Bapgladesh (b)  Bhutan

| ~Sri Lanka (d) Myanmar

status of House Sparrow in India as per the State of India's Birds

(b)  Uncertain

(d) Data not Available
@esided the historic Lahore session of 1929 of Indian

- (b) Rajendra Prasad

(d) Pandit Motilal Nehru

1* in the country to lunch unified vehicle
jing license after Uttar Pradesh.

dhya Pradesh
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R B

Chattopadhyay?

(a) Swami Vivekananda (b) Ram Krishna Paramhansa
a w

()  Sri Aurobindo (d) Swami Prabhupada
c

()
. Who among the following was the author of Anand Math’

Bankim Chandra Chatterjee ~ (b)  Ravindranath Tagore
(d) Bal Gangadhar Tilak

Chandra Vidyasagar (b) Acharya Vinoba Bhave
ba (d) Dadu Dayal

worth for the sale of six AH-64E Apache
ea Hawk helicopters to India.

~ ® $10Bilion

| $ 3 Billion



45.  Which of the following is the characteristic of business?
(a)  Production (b)  Exchange or sale

(¢)  Risk element _(d)” All the above

What type of mirror can be used to obtain the real image of an object?
V@a’ Plane mirror (b) Concave mirror

) Convex mirror (d) No mirror can produce a real image

e constitution of India is divided into how much division
22 b) 17
@ 11

author of 'The Accidental Prime Minister: The Making and

(b) Chetan Bhagat
(d) Dr. Manmohan Singh

of tea and coffee is:
(b) Chlorophy II
(d) Aspirin

y with the concept of entitlement?
Partha Dasgupta

Arvind Panagariya
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5]1.  The state which has the lowest percentage of persons below the poverty line is:

(b) Maharashtra

(@) Kerala
(c) Punjab (d) Gujarat
The sun and moon appear elliptical near the horizon due to

%(a) Optical illusion _Ab) Interference
Refraction (d)  Actual change in shapes

. smallest information storage unit of computer and telecommunication

(b) Binary Unit
(d) Byte



56. Depository services refer to:

A (a) A new scheme of fixed deposits

~ (b) A method of regulating stock exchanges
An agency for safe-keeping securities

An advisory service to investors

)  Uttarakhand (b)  Rajasthan
Madhya Pradesh (&) Uttar Pradesh
of Indian is in first position in cement production?
(b) Rajasthan

(d) Sikkim

, which secured $118 Million through offshore India rupee

(b) Green vegetables
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61.  Find the odd man out from the given alternatives:
(a) Nehru Trophy (b) Rangaswami Cup

(¢) Bombay Gold Cup (d) Narang Cup

In each number, if first digit of number is subtracted by I and third digj

g subtracted by 3 and then both the digit are interchanged with each other, why,

(b) 536
d) 355

(b) 42
d) 435
(b) 024X

@ Q248

B (b)) 3636

b
i
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: R w— —— TN = il

- 66 Aseries is given one term missing, Choose the correct alternative from the given

options that will complete the series.

~ AZWD, CXUF, %, GT0Q)
n {n) EVSH (hy EUTH

A2, B/4,C16,1)/8
(a) E/8,F/10 (b) FE/12,F/14
' (dy  D/10, E/10

itesh's brother-in-law
’-:,_,, er is Anil's sister
it sh are cousins
s denoted by T,1by U,Oby I, Eby R, T by O and V by
y , RIFICATION be written ?
() VRNUEUTAOUIN
~ (d) PRNUFVOAOUIN
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70.  Conceit : Arrogance ::Tirade : ?
(a) Outburst (b) Forget
(¢) Quiet (d Add

Vivacious : Sprightly ::Adherent : ?
) Cease (b)  Stop
(c) Careful (d) Devotee

(b) Stop
(d) Anger
(b) Current
(d) Refuse

e in a chess board ?

(b) 68
206

L-12, M-14
K-12,M-14
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76, Four of the following five are alike in a certain way and so form a group. Which

is the one that does not belong to that group?
- (a Manure (b)  Nitrogen
(¢) Ammonia (d) Urea
From the given alternatives, find the word which can be formed from the letters

“used in the given word.

FRACTURE (b) MANNER

(d) FACE
(b) Brass
(d) Zinc

(b) Trench

(d) Ditch

Grandfather

Sister
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~ 81. The average marks scored by Ganesh 1n English, Science, Mathematicg ang

‘History is less than 15 from th

and Mathematics. What is the difference of marks

at scored by him in English, History, Geography

in science and Geography

- secured by him?
(@ 40 (b) 50
60 (d) Data inadequate

e Product of two successive even numbers is 6888. Which is the greater of the
v-v ;:
(b)y 82
__(d)” None of the above

»w"*"*é
=
PPN 8
52 o
S
25 % (

12
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mmg at speed of 120km/h crosses a signal post in 15 seconds. What is
, Mgth of the train in meteres?

~ 300M (b)  200M

- 500M . d) 100M

«] p > v » f 8
travelled a distance of 80 km in 7 hours partly on foot at the rate 0

artly on bicycle 16 km/hr. The distance travelled on the foot 1s:
(b) 48 km
(d) 44km



- 67.99% of 1401-13.99% of 1299 is:
@ 70 () 720
@) 770 (d) 800

men can finish a work in 20 days working 5 hours a day. To finish the wopy
in 10 days working 8 hours a day, the minimum number of men required s
1C (b) 300

A 312 R

-
10 1( L\ ™

>

e

X

“
% =

=~
K

Iking at a speed of 10 km/h. After every km, he takes a rest for 5

(b 50 Minutes 2
Ve :

(d) 70 Minutes

-
- g
-

1g is ‘running with a speed of 54 Km/h. In what time will it

(b) 15 seconds
(d)

18 seconds
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M’t number which exactly divides 200 and 320
& - 20
d) 40

the first 35km of its journey in 45 minutes and the remaining 69km

es. What is the average speed of the car?

(b)  50km/hr g g
W'
(d)  60km/hr

ar do a work in 12 days. 5 men and 2 women can do that

ly 3 women can finish the same work in:

g
o o \‘,UJ,.QHD/\
4 (b) 21 days 7;‘_::1“) L. X e
(d) 42 days Y r?
~'\,\ 1\.m A ’?1:—; ) :EL/‘.}) 1 -
"f“*:}‘f’ by BB <7 oF 4
s i k\(\n’ \i‘\

Y ; . :
odd numbers and their average is 42. What is



HMcostpnce of an item 1s 2/5 of its marked price and if it is sold af discount
aﬂ@%, then there will be:

(a)  25% profit (b)  40% profit

50% profit (d)y " 125% profit
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